[ Efficiency vs vertpos |
~ 0.2

TIPS SO S S—

2 E : : :

O L e proseeeee

[8) I : : :

S CT7] TR FERSRENE e L

I : : :

R o i
I oo 20 I
0.08F -+ P peeeece ARELEPRIRER
0.06f -+ wreeirreannenes o :

0.04F R

0-0%4' it
Al kAR
o Of : : ;
= - HHR RN
c : : o
0.9 f--f T T +1 il T

0.8 : :
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
~ 0.5

L R s H B

A T R
2 04F et
> F H : : : :
2 E : : : : :
oI S A S A
) o : : : : :
£ 0.3F b
o o : : : : :
O SRR SR S S L U
RIS RO S 0 e o
T Rt SRS SN O [ S
St R TS S [

005F -+ i
|

SR U TR S X S
3. F ' : :
(SR Tl SERRRRS-PERRRY OS5 11117 |1 SE ERPE-ERRERRS
SRS S R 1 1111191110 S S
0'95: . . i 1 .
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0

..............................................

...............................................

1.0

Ratio

1

0.95

o

9
9,

10 15 20
Sim. PV z (cm)

ﬁ
o
U-| o -
o
[(6)]



	Contents
	Page 1


